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Q261. At 30°C, which of the metals is liquid?
30°C W, ahleT AT UTI¥ el 2

A. Cesium /ATSTH

B. Lithium fafag#

C. Sodium /AMf3TH

D. Magnesium /AT I

Sol-

The metals which exists as liquids above 30 degree celcius are :-
1) Mercury-(Also in room temperature)

2) Cesium

3) gallium

i €T 30 Bl AfeaaT A FH RA T F TT A AN E 8- -
1) IRT-(FAY & ATIHTT H &)
2) oA

Q262. The atmosphere exerts enormous pressure on us. But we do not feel it because?
A §HAR SR AT ST STeldT & T 8ff g3 Heqd 3 =T¢1 gIe:
A. The surface area of our head is very small/ HR &R T IS8T &TThel g HH grar
g

B. Our bones are very strong and with stand this pressure/ gHRT 37Eam ag?r Halqd

IS EEIC G ERCRINS
C. Our blood exerts a pressure slightly more than that of the atmosphere/ @HRT Ik

ma@g@wmﬁwmmm%

D. We are used to it/WWﬂﬁﬁﬂ*%

Sol-

The air around us has weight, and it presses against everything it touches.

That pressure is called atmospheric pressure, or air pressure.

The standard, or near-average, atmospheric pressure at sea level on the Earth is 1013.25
millibars or about 14.7 pounds per square inch.

The gauge pressure in my automobile tires is a little more than twice that value.

Air pressure is caused by the weight of the air molecules above.

Even tiny air molecules have some weight, and the huge numbers of air molecules that make
up the layers of our atmosphere collectively have a great deal of weight, which presses down
on whatever is below.

1 atmospheric pressure is equal to 10.33 meters underwater.

1 atmospheric pressure = 1.01325 bar.

For underwater pressure is defined by this equation, P = density of water * gravitational
acceleration * height under water.

AR TRT 3R T &aT H IoTeT gl &, IR Tg g1 39 ISl o &l gara srerdl & [ ag
Eold
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3Y ESTd I AHASAIY celld AT Ay ¢ gl ST g |

gdl W FHg el TR ATAS AT 1891 IR IGAS ga1d 1013.25 fAAER A7 SHaremaT
147938 9fd aT ST 5|

A HISAETS S TR H 15T 7 el 38 Hed & alfs § AT 31w B

aRgETs SO Ay o 3ULHT & X & HROT BT & |

Igi deh Toh & & BIC TUT31 1 11 T ToTel Il &, 3R 937 AT A arg o 370] 5 AR
AIGHS hl Wil T AHfGD T & T &, 3eThT doled g 38R gl &, St o St o
M AT e 3V garar ¥

| IRYHSN &1 10.33 HIEY el & &) o SR Bl

| IYHSNY &1 = 1.01325 IR |

qTeiT o HIR e & oIt 5| 1Ao7 gaRT IRHATN foham arar g, T = il &l Eeled *

TEcATHYOT a0l * Ulall & &1 s |

Square inch column
of air molecules

Atmospheric
pressure

14.7 Ibs of
—
Q263. The main use of ‘magnesia’ is as a/an?

AINTEAT hT HET 3TN FIT gl 872

Antibiotic/ FTdotideh

Pain killer/ &¢ f¥aReh

Antiseptic/ WTFU;WW

Mild laxative/ §eehl Yaeh 3wTer

o 0w

Sol-

Magnesium is used in products that benefit from being lightweight, such as car seats,
luggage, laptops, cameras and power tools.

It is also added to molten iron and steel to remove sulfur.

As magnesium ignites easily in air and burns with a bright light, it's used in flares, fireworks
and sparklers.

Magnesium continues to burn after oxygen is depleted.

It then reacts with nitrogen from the air to form magnesium nitride (MgzN2).

When attempts are made to extinguish magnesium fires with water, magnesium aggressively
reacts with hydrogen gas.

Magnesium is an important mineral, playing a role in over 300 enzyme reactions in the
human body.
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HeANRTH &1 IYANT 37 IcUTST H fHAT ATAT & ) godh gl A TATead ald &, 5y &I
T "I, ATAT, oigeid, Har 3R fSstell 3usior|

BT &l gl %%@@Wg@@%ﬁ?@ﬁﬁﬁmmﬁl

Yfeh ATHITRIAA gaT H 3T & Foafeld gicl § 3N dot WA A STeldl &, SHAT 3TN
I, JTTCRIETSN 3R Pergifsdt 3 forar s g

TSI T T & a1 o HTA AT SForar war g

Y I a1 & SA1SeISTe o AT 9T fohdr Fteh ATAIRITA A18¢158 (Mg3N) TATdT g

Q264. Which of the following elements will have the lowest electronegativity?

fAFfafed & @ foha dea T faegd RUTcHS T T8 e gt
Bromine /Sl fHeT

Chlorine /FellIeT

Fluorine /Fell}YeT

Todine /3811

o 0w

Sol-

Atomic Size Increases

A

Electronegativity Increases
Ionization Energy Increases

AA [0 He

ui B 8 0 F |Ne
|HROLE WS ]'s ol
|2]2| 2 Tea] e [Ty o an P o i Bu 20 Ga e hs e e [l
(] ey e o
| 2| s a0 e s e ot g o o
| ] i

onnes L2 o [ [ P S5 |y o s im0
Wl | o P [ e ot s g o

Therefore, in a group, as the size increases, the ability to attract electrons decreases due to
decrease in the effective nuclear charge. So, iodine has the lowest electronegativity. Fluorine
has the highest electronegativity followed by chlorine, bromine and then with the least
reactivity we have iodine,amongst the given options.

SATIT, Teh g H, SIA-S1A 31TehR S6cT &, THTE IATY] sl H el & HROT Sl
T TR el hl &THAT e 1 STTcll & | ar, ITAISTeT H TG e SelagladIicides gl g
FeAlIeT H TN 31T SolaeleIfefadl gy &, 3T 16 FalldieT, siteTeT 3R T a8 Fe
gfafshareiierar & @1 gAR 9rd f&T a0 fdshedl # & 3AST giar g |
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Q265. A 100 W electric bulb is used for 8 hrs day. What would be the units of energy
consumed in the month of April ?

Tah 100 TTE T [Tl &7 Tod 8 8¢ & ToIT 3T fham ATar &1 379 & A H @Ud ahr

IS Foll I SIS FIAT B2

A.

oOw

Sol-

24 units
16 units
8 units

. 0.8 units

When an electric current is passed through a conductor, the conductor becomes hot
after some time and produce heat.

This happens due to the conversion of some electric energy passing through the
conductor into heat energy.

This effect of electric current is called heating effect of current.

The heat dissipated is given by:

Heat (H)=1>R t

Work done (W) = Heat (H) = Energy consumed (E) = Power (P) x Time taken (t)
Power = 100 W = 0.1 KW

1 Unit of electricity = 1 KWh = 1000 Watt-hour = 3.6 x 106 J

1 Kilo-watt = 1000 Watt

1 Hp = 1 horsepower = 746 Watt (W)

T fehdlt =Tereh & faeg el &RT yaTfed i STTcll &, at <iTeieh e G Te 916 8
ST & 3R FSAT 3c9e HLar g

Ig HsFc A IR dlell HS [deGd Soll i FTAT Foil H Feelal & HROTEIAT 8 |
faeg et €T & S8 THTE Y IRT &7 FSHIT J87Td el o |

ISHT & 39T ¥ GaRT f&ar AT 8

FSAT(H) =Rt

o3 a1 IR (W) = AT (H) = 311 1 @Ud (E) = AfFd (P) x foram aram @737 (1)
e = 100 S5 = 0.1 feheltare

1 gfee faetell = | fahellare = 1000 aTe-8er = 3.6 x 10° S

1 farelt are = 1000 are

1 37Rafed = 1 31RaQATFd = 746 ATC (S5c)

Q266. Sodium chlorate is used in

TTSITH Folke T T2 fhar SFrar g

A.

B
C.
D

match industry /AT 3¢l

iseptics /TIMUTTETRT
. antiseptics ']

disinfectants /WQW

. None of these
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Sol-

e Sodium chlorate is a powerful oxidising agent produced industrially by the
electrolysis of sodium chloride solutions.

e The chemical formula for sodium chlorate is NaClO3.

e [t is a commodity chemical that has only one single major use as bleaching pulp in the
production of paper.

e Used in the Solvay process uses sodium chlorate and sulfuric acid, with methanol as
the reducing agent.

e Used as an oxidising agent in the dye-stuffs industry and an oxidising and bleaching
agent.

¢ Finds additional use in the explosives, match and pharmaceutical industries.

e Major sodium perchlorate produced is used for the production of other perchlorate
and perchloric acid.

o UTH Felke AfZTA FRTES AT & SoaeIfafad garT e T d
3cATEd Ueh AATFARITeT 30T Toic ¢ |

o WIfSIA FeRC FHT TS FF NaClO3 &

o JUE Uh HHAISEI hiHhdl § ToTHRT FHIITT & 3cUTeT H soll [T T & &T H hdel
Teh &1 9T SUART g g |

o Ticd UihaT H vged WIfSTH Feile 3R FergRen TS &1 3UT AT 8,
HAYUATS Pl e Flal dTel Toie & &Y H|

o STS-HTHTA 3T HIFEHIUT Taie T 3HTreIehior 3T falsre Tale & ®9
39T fohar ST B

o TaEwIceH, ATRE 3R gar 3¢ 7 faRed 39T Irar |

Scurfed YA BIfSTH ReFeiRT Tl 3TN e WeFelle IR ReFiReh TS &

3T & Torv fham STar g

Q267. The tissue which is responsible for movement in our body is
gAR R # 31T & AT 3R 3 §

Connective tissue /TSI Fch

Muscular tissue /92T Fds

Nervous tissue /A3l Fddh

Epithelial tissue /39hell 3cdh

S 0w

Sol-

Muscular tissue consists of elongated cells, also called muscle fibres. This tissue is
responsible for movement in our body.

Muscles contain special proteins called contractile proteins, which contract and relax to cause
movement.

U FicTeh & ol HITRARIV glell 8, [oiee ATGURM A $1 a7 ST & | TE Feieh gAN W
# 1fa & o TR xar &
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FrEafRrat 7 fAAT N g1 & e FspsT g3 AT gl STl &, St s T 3
X § e afa g 81

Animal Tissues

v

v

v

v

Epithelial Tissue Connective Tissue Muscular Tissue Nervous Tissue
e Protection e Support e Movement e Conduction of
e Absorption e Binding of organs e Locomotion nerve impulses

e Secretion e Transport of ¢ Co-ordination
e sensory substances of body
e Immunity functions
o
g »T% A
o . N N
° . 7/ :
o o o
° -

Connective tissue

Epithelial tissue Nervous tissue

Muscle tissue

Q268. In a mammalian cell, the protein is synthesized by

AT IFRAT 3 NN T G20 @It &
Ribosome RTS&IATH
Golgi /AMTesiT

Lysosome /IiSarale
Smooth endoplasmic reticulum/ fIehelT PIRIFRT g SATfernt

S 0w >

Sol-

The ribosome is universally responsible for synthesizing proteins by translating the genetic
code transcribed in mRNA into an amino acid sequence.

Ribosomes use cellular accessory proteins, soluble transfer RN As, and metabolic energy to
accomplish the initiation, elongation, and termination of peptide synthesis.

USSEIH THA3RUAT H T e]d R s i IHIAT TR 3eJshal H 3eldTe i
ENT ! TRANT A & T A s 7 3 SFAeR B

USSTEIHA GTe3s HYANUT hi E1&TT, Se1d AR FHATTCT i I et o [T AcfoR HeTdh
IENT, FolaTeliel FATATRUT HRTAT HR TATTE St ohT 3TATT A ¢ |
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RIBOSOME

‘__ Amino

Aminoacid — acid
chain (protein)

Q269. When light is scattered by a molecule and the frequency of the scattered light is
changed, this phenomenon is called

TS GehTRT Ueh 30T E@RT YehITOTC BTl & 3R FehIfOTeT Gehrer T gy seet STl 8, ot 59

€T Sl gl SITdT g

A.
B.
C.
D.

Sol-

Rayleigh scattering /Aol Fehrofer
Raman effect /THT THTT

Photoelectric effect /9ehIRT ﬁ?.'{{l_)?f YHTT
Rutherford scattering REIHIS JhIoTeT

With the Raman effect, monochromatic light is scattered by a molecule. A frequency
shift then occurs above and below the incident light in a small fraction of the light
scattered, which is known as the anti-Stokes and Stokes shift.

TH F3ITd & Thaoff Jeh1er Teh U] SIRT YehITOTd g1 & | Ueh TG Seelld e
ﬁ@frgéﬁawﬁaswmﬁﬁarﬁmweréswaﬁvﬁma%R?ru'?r-
eIy 3R ey RIve & §9 & ST ST &

Q270. Hydrogenation of vegetable oils using nickel catalyst is an example of

fTheT 3CUTE T 3TN I AT el T BISSISTai I OT Ueh 3GIEI0T §

o0 w >

Sol-

Substitution reaction /ATIEUTIeT Ffafshar

Elimination reaction /3e#elel gfafrar

Addition reaction /NS 9fafehar

Free-radical polymerization /$T-3{3ehel GrellaRISoIerT

Unsaturated hydrocarbons add hydrogen in the presence of catalysts such as
palladium or nickel to give saturated hydrocarbons.

Catalysts are substances that cause a reaction to occur or proceed at a different rate
without the reaction itself being affected.

This reaction is an example of Addition reaction which is commonly used in the
hydrogenation of vegetable oils using a nickel catalyst.

Vegetable oils generally have long unsaturated carbon chains while animal fats have
saturated carbon chains



GENERAL SCIENCE IMP QUESTION / SAMPLE PAPER - 32

I BTSZIehTSe Hcocl BISSIhTae &ot oh Tl Yl ST AT foleher SIEY ScoRehT hr
39fEufa & gssie Ssa &

3R U gerd gl & Y ufafshar i wsfaa fhe e uen reT ex R giar
31T §Ca) T HIUT ST &

Tg wfaferar sis ufafsar 1 v 3e18eoT § S 3R R fAshel 3RS &1 39197
Feh JITAT ell o ETSSTST=iTehI 0T H UL fohdT SATAT & |

TAETTT il & 37TH TR TR ST IS hiele] FTeAT Bl & STafeh T a&lm &
HJod IeeT ST Bl &

R R _ R R
\ / Nickel Catalyst 1 1
c=c + H e HC—CH

Vegetable Oil
Unsaturated fat

Vegetable Ghee
Saturated fat

Q271. Twinkling of stars is due to
AR &1 AT fohaeh HROT g &
A. particular frequencies of the starlight /dRT ¥ faQre 3-TIT:I(:%I'€I'T
B. reflection of starlight from the oceanic surface [T Tdg § dRT & Y1l &l
ENCRD]
C. atmospheric refraction of starlight /dRT & JehTeT ST aTﬂ?:l'g@'J 39adeT
D. magnetic field of Earth /qc%_qﬁ' Cal ﬂaﬁ'& &

* Apparent star

Ray patpr /7  position

= /
| /
Refractive Index v
increasing | /
/

%

Q272. A milkman adds a small amount of baking soda to milk. This makes the pH of the milk
Ueh GEITelT g8 & 21EY AT 3 SRFaT WNeT FRelTa & | 588 g8 T pH &Y ST &

O 0w »

. strongly alkaline /37caTeIeh &I
weakly alkaline /AR &I
strongly acidic /eTeT 3TF
weakly acidic /AHSIR IFeld
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Sol-

The pH of milk is around 6. At this pH, milk soon becomes spoiled and becomes
undrinkable. So it cannot be kept for a longer time. To prevent the spoilage of milk, the
milkman adds a very small amount of baking soda to fresh milk. Baking soda is sodium
bicarbonate. It is basic in nature. Addition of baking soda increases the pH of milk from 6.
The milk is now alkaline. Due to this milk can be kept for a relatively longer time.

GRI & pH 3787 6 81T & | 38 pH W G STod! TS 1 i1l & 3R Gel oidreh w181 3§ Sirell
¢ safoIT 3@ 31 TH dek A8 TWT ST Hehell 8| G ! TS glal & a1 & fow
SYaTelT TSl g8 3 gl e A & afeher @Yer Aarar g1 e @sr afsae ssweiac
&1 TE Tpid H FAAIET 1 Afehar FisT (A= & g 1 v 6 @ 9¢ ST § | g 379 &R
81 31T 8| SEQ G T 3198TThd 38k HHI e TWT ST Hhell & |

Q273. Which one of the following metals does not react with oxygen, water or acids?

fFfafed & @ Hla-dr arq Jiierdiste, STer IT 31FcT o I HTATHAT g1 Ll 82
Na
Cu
Fe
. Au

TOw >

Sol-
Metals such as lead, copper, silver and gold do not react with water at all.

A, i, =T 3R FAT Sl erqe e & AT et off ufafshar st s 81

Q274. Which one of the following metals produces hydrogen with cold water?
fAFfaf@d & & la-dr a1q &3 Siel @ gI8gIetal 3cdeet il 87

Silver /TTEY

Sodium /AfSTH

Copper /dT8T

Iron /FﬂET
Sol-

in the periodic table alkali metals are the most reactive metals. Sodium when in contact with
cold water, readily reacts and an exothermic reaction takes place.

37TareT RO # TR 4TV FaTtereh fohamelier arqu €1 Wif3ae 33 urel & dueh & 31 |
Rl wfafshar e & 3R e Teraifafdes gfafhar g |
2Na(s)+2H>0(1)—2NaOH(aq)+Ha(g)

o0nw >

Q275. Which one of the following plant tissues has large air spaces?

frfa@a # & fone die & Sicfe! & 93 a1 T 81 &7
Sclerenchyma /Tl eTRISHT

Meristem /ATRECH

Collenchyma /@hTeleTehISHT

Aerenchyma /TReahTSHT

o0 w >
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SOI-

Parenchyma cells carry out many function as forming chlorophyll containing cells, storage
cells.

As per the function the shape, size of a parenchyma cell changes.

In aquatic plants, parenchyma cell possess large air filled cavities and air filled intercellular
spaces.

These cells give buoyancy to plant to float in water. Such cells are then called as aerenchyma.

UReRTSHT IR FARITeT Jercl HITRABIAT, HSROT HITRABTIN o [HHTOT o6 &7 H 8
FRI FLA G|

I & ITTAR RehISHT HIRAAT T TR, TR Te ol STl & |

STl tet #, ReohrgAT HITRIHT 7 gaT & T 937 IETC 3N &aT F 3 3R TATeT
Bl &l

W Q g o
Y AABTT G AT ATAT H R & FIT SeTelrashcdl &t 8 | 0T PRABT3M T T RIS AT
Parenc! hyma collenchyma
characteristics | Spherical, thin walled Elongated cells with unevenly
thickened walls.
Location Throughout the plant Beneath the epidermis young

stem

Function Photosynthesis, respiration, storage, | Flexible support system,
Regeneration also called storage contains chloroplast.
tissues.

DEPOSITION OF

SECTAD THICK WALLS
CELLULOSE
AR
N

Q276. The radioactive isotope of hydrogen is

gTS3ISTeT T ISt T+ §
protium /NEITH
deuterium @ﬂ?ﬁ'ﬂﬂ

~

tritium /fefeara
hydronium /gT83I eI
Sol-

The most stable radioactive isotope is tritium, with a half-life of 12.32 years.
Hydrogen is the first element in the periodic table and has the atomic number one.

In tritium, the concentration is one atom per 1018 atoms of protium. Out of these three
isotopes of hydrogen.

a8 R sarest aaearaes fefeas &, e 3r8-3mg 12,32 av &

ETg3IoTel 3Tacl ARUN & Ugell ded § 3R SHHT TRAT Sheleh Teh & |
fefear &, Sifearsr & 9Ty 1018 TRATLHT & T TRAT &1 Figrell gielt §1 5787  gregisre]
& ofieT FHEATTASR |

S 0w >

Q277. Which one of the following is used for storing biological tissues?
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frafaf@d & & e 3UaT A3 St & 3R 3 fore fFar sTar 82
A. Liquid nitrogen /el TTSglol
B. Liquid helium /aRel gifeigs®
C. Liquid argon /a%el 33T

D. Liquid bromine /el sT&T

Sol-

Liquid nitrogen has many uses, mainly based on its cold temperature and low reactivity.
Examples of common applications include

The freezing and preservation of food products

The preservation of biological samples, such as sperm, eggs, and animal genetic sample.
Used as a coolant for superconductors, vacuum pumps, and other materials and equipment.
Used cryotherapy to remove skin abnormalities.

R FATSEIST & g IYANT &, HET: S8 &3 ATTAT IR e Gl fsharelielar & 3T
9|

AT TN o SeTeIoi & M §

GTeT 3cdrar ot fgdiaior iR afRkefor

USRIV, 373 3R UR[ JTId R AHA S Sifdeh AT hT TETOT|

FUehseed, dHgH U9 AR 37 AHTIAT 3R 3uevil & forw eficereh & &9 & 39Ter
o ST |

SHIATAYAY ST SEAHATS cardll T AT & g Gt & fore fhar Srar g

Q278. The valency of phosphorus is
BIEPRY HI FATSThdT &
A. 23
B. 3,4
C. 45
D. 3,5
Sol-
The atomic number of phosphorus is 15.
The number of electronic configuration are 2,8,5.
When the atom gains 3 electrons the orbit is filled. or otherwise the atoms should lose 5
electrons. the valency is the combining capacity of the atom. therefore the valency of
phosphorus is 3 and 5.

TR T IATI AT 15 gl ¢ |

Solaeifoleh AeITT ST TEAT 2,8,5 B

TS URATY] 3 el UTCT h{cll & Al el $1T SATel & | AT 3T IATIL3 bl 5 Felergiail
T QAT IRV | FHSTehcll TRATU] hT HISToT &THT & | SHTTT BIREBIRE hl HTTohell 3
IR 5B

Q279. Two magnetic field lines produced by the same source

Teh &1 B GaRT 3cUoet &1 Yoehid &1 3@TT
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A. never intersect /HHT H’?f hIcaAT
B. can originate from same point /Tch ar ﬁg@' 3c9ooT af ohd %
C. can terminate at same point /Uch ar ﬁg W ATCT I Tohd %

D. can intersect depending on situation /fEAT & TR 9T Ufd<de HT Thd &

Sol-

Magnetic field lines are a visual representation of the invisible lines of force in a magnetic
field.

The magnetic field lines are the lines drawn in a magnetic field along which a north magnetic
pole would move.

Magnetic field lines always begin from the north pole and end at the south pole.

The Magnetic field lines leave the north pole of a magnet and enter the south pole.

The strength of the magnetic field is indicated by the degree of closeness of the field lines.
where the field lines are close together, the magnetic field lines are strongest.

The magnetic field lines don’t intersect/cross each other.

eI &7 YWTT a1 &7 72T Sof WIS T Ueh 797 Yid i ftiea § |
ECCIR]

ehI &1 TWTT GART SR Y & Y& BlehT STaTol ¢d I AT giell ¢ |

I &1 YWV TIah & ST T I BISH GTAToN §d 7 T HL ¢ |
AT 81 Y dTed a1 YT Y ycredr i f3af & Gahfaa g &1

STeT &Y YT T g & o gl &, dgT Jaehrr 8 YT Fat Fore g ¥
I &1 TGTT Ueh GEX T TTcTede/IR AEH Hleil & |

Q280. When the short circuit condition occurs, the current in the circuit
STe QUTE afhe 1 FEufd gich 8, dfdhe A e grarg

A. becomes zero /Q]EI ET ST %’

B. remains constant /fER IEAT &

C. increases substantially [RTHT §6 SATAT %

D. keeps on changing randomly /ScRciiel &3T & I&eldll Y&l &

Sol-
A short circuit is an electrical circuit that allows a current to travel along an unintended path,
often where essentially no (or a very low) electrical impedance is encountered.

AITC Hiche Teh geifargehel Hiehe § Sl hc T IAUTEIT T & HY AT et T IHeTHTT
ST &, 3FER STel AT ST A 15 (AT gl ) Taegd ITASTT T HHAT TET e
EEGIES

Q23. Which one of the following statements regarding Bleaching powder and D.D.T. is
correct?

Sl T2I9T UT3sY 3R A8 & G A AT T # @ FleT AT HUT &2 Tl 82
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Both are inorganic compounds /Glsit JepTaieeh AifH §
Both are organic compounds /Glsit CORIDCIRIEIC R
Both contain chlorine /&IAT 3 FAIT T &

Both contain calcium /Gt ¥ HTc A gidT &

S 0w >

Q24. Which one of the following is the best example of desiccant?

T fed & @ et a1 STer[Seheh T T 3TTOT 36T 82
Silica gel /faferer e

Polystyrene / CICIEAEIGE

Sodium chloride /ANTSTH FARTSS

Sodium carbonate /AIfSTH Frefaic

Caw >

Sol-

Desiccants are drying agents that extract water from various kinds of materials.

Desiccants work by a process called adsorption.

Adsorption is described as a surface phenomenon where particles are attached to the top layer
of material.

Desiccant is used where the rate of evaporation is quite low due to the high percentage of
humidity in the atmosphere.

STT[Seheh Gl dTel Usic ¢ il faffiee] YehIk T FTATIT & ITeil fo¥ehrerdt 81
STT[Seheh 3TTRIRITYOT ATHe FishdT SaRT 1 A ¢ |

HIGAT Ueh HeTg TeaA & &9 & afoie g STel o7 Fraall &l Y R A S8 8id &
STeTR[Seheh T 3UTAT fohaT SITCT § ST8T ATelTaRoT & 37Terell oh 3T Jcilel o hRoT
TSI 0T hT &3 IthT e Bl o |

Q25. Which one of the following was the first mineral acid discovered?

AT @d & @ i 1 ugaT WiAer 3/Fd @iaT T AT?
Sulphuric acid /Wﬁa? [Ur S

Hydrochloric acid /gT83IFalliXeh s

Nitric acid /ATSf¢eH TS

Phosphoric acid /BIEHIR® TfaE

Caw >

Q1. What is the purpose of adding baking soda to dough?
3TC # JfheT AIST FAETT T T 366T &7
A. To generate moisture /sTHI 3¢l el b fow
B. To give a good flavour /37<&T FA1G Gel o TolT
C. To give good colour /37TBT 33T &1 & foIT
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D. To generate carbon dioxide [T 3133-ﬁ'ﬂT§§ 3ol el o [T

Sol-
Baking soda has sodium bicarbonate as the chief constituent. It decomposes on heating giving
carbon dioxide. This causes dough, cakes, biscuits etc. to expand and become light.

SfehaT HNST H HET e & T A HSTH Tsehraicie giar & | ITH e W IE Hieel
STS3TeRATSS & §U fafed &Y ST &1 S8 JHTer, heh, fope 3T Hhershd goh &1 371 &

Q2. Which one among the following metals is used for making boats because it does not
corrode by sea water?

fAFfaf@d & & foha erq &1 3uANeT A1d §11 o foIv fohar SITdT & Fifeh T8 Fag & dreit
¥ @S 761 g 87

A. Tungsten /CITECA

B. Nickel /feeher

C. Antimony /TEIHaiT

D.

Titanium /Elgéiﬁaﬂ
Sol-

Titanium (T1) metal is used for making boats because it does not corrode by the sea water.

TSI (Ti) YT T 3TN AT Telled & T AT ST & Fifeh TE Fag o arelt &
e o181 gl g

Q3. A close bottle containing water at room temperature was taken to the Moon and then the
lid is opened. The water will

FHFX P ATIATT I Ul & 31T Teh &, Aol T AGHAT IR of ST 3T 3R TR St @il
IAT| IT=AT 81917

A. freeze /STH SITTIT

B. boil /3dTeloT

C. decompose into oxygen and hydrogen /3iTaTTeT 3R gI88Ield & faafed

D. not change at all fSegher gRdciel sIgl

Sol-
The water will freeze because on Moon the temperature is below the freezing point i.e., very
low.

Tt ST SITUIT FiTeh TGHT IR ATIHT %ﬂﬁﬁgﬁ;ﬂfrmﬁagﬁammﬁ

Q4. Which one among the following is responsible for the expansion of water in the ocean?
fAFfaf@d & & i g A St & faeaR & fow Farerir g2

A. Carbon dioxide /Telel '5'[33-ﬁ'5FQ:|T3§

B. Nitrogen dioxide /T8¢ ISTe] §I??'3-|\iq'+ll$s

C. Carbon monoxide /FTeel HIATITFHTSS

D. Sulphur dioxide /AeHR STSHTFATSS
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Sol-
Carbon dioxide is responsible for the expansion of water in the ocean, CO2 causes global
warming.

TS STSINFATSS T H UTell & TIEAR & T fFFAGR &, CO2 TelieTel aTiaar &l HROT
JAdT &

Q5. Food cans are coated with tin but not with zinc because
Gl & f3ea OX feeT T oI @I & elfehet [oieh & 18T, i
A. zinc is costlier than tin /f¢eT T Jefell # S EFETIT %
B. zinc has a higher melting point than tin /f&sT &t Jefell H S &1 ITereTioh 318 giar
3
C. zinc is more reactive than tin /f¢eT T Jefell H STEaT ¥ gfafshaneier %’

D. tin is more reactive than zinc /fe=T ol &1 ?:IDT»IHT # 3fees gfafehrareier %

Sol-

Food cans are coated with tin instead of zinc because zinc is more reactive than tin. Tin is
only reactive to powerful acids such as tri-sodium phosphate, while zinc is reactive towards
acids.

el & f3ea 9X fieh &1 STa1g Tt T o foham SirarT & ariifen foten et & ofetr # 3R
gfafsrareiier Yt §1 o shaer AfFaemel viis S ers-aifsas vivkhe & faw
giafsrareiier §, Jafe ol tias & ufa ufafsmareia &



